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NAME..............................................................................ADM NO....................CLASS.......
TERM 3 END-TERM EXAM 2011
MATHEMATICS FORM 1


ANSWER ALL QUESTIONS

1) Write 1005038 in words.									(1mk)




2) Find the value of 62 – 6  + 3								(2mks)
  3














3) Find the square of 6¼ giving your answer as a mixed fraction.				(2mks)












4) What is the total value of digit 6 in the number 40607580?				(1mk)




5) i) Find the capacity of a container which measures 1.5m by 1.0m by 0.5m in litres.	(2mks)













ii) If the density of a liquid is 1.2 tonnes/m3 find the mass of the liquid needed to fill the tank.													(2mks)













 
6) Mrs. Kana has exactly shs. 700 in her handbag. This money is composed of sh.50 notes and sh.100 notes. If she has a total of 11 notes, how many notes of each kind does she have?													(3mks)












7) A salesgirl is paid commission as follows:-

12% for sales up to sh.120,000
15% for sales between shs.120,000 and sh.480,000
18% for sales in excsess of sh.480,000

If she sold goods worth sh.560,000 in a certain month, how much commission did she receive?											(4mks)
























8) One student got x marks in a test. Another student got 8 marks less. If the first student got 1⅓ times of what the second one got, find how many marks each got.			(3mks)












9) Given that 1/v = 1/u + 1/f, and that v = 5 and u = 3 find the value of f.			(3mks)
















10) A camp has enough food to last 10,000 refugees for 35 days. After 5 days 2,500 more refugees arrive in the camp. If all are now put on half ration, how much longer will the food last?											(3mks)	














11) A man bought 10 mangoes as sh.9 each. He ate four of the four of the mangoes and sold the remainder, making a profit of sh.8. Calculate:

a) his selling price per mango.								(2mks)








b) The percentage profit on each mango.							(2mks)



12) Find the length of a square whose area is 0.0084m2.					(2mks)

















13) Express 1.313 as a fraction in its simplest form.						(3mks)












14) Ng’eno has three strings measuring 252cm, 567cm and 378cm. He wants to cut each string. such that all the pieces are equal in length. What is the longest possible size that each piece of string would be?									(3mks)















15) Three bells ring at intervals of 8, 15 and 9 minutes respectively. Once they ring together, after how long will they ring together?							(3mks)













16) If a film show, 1/5 of the attendants were boys while ¼ were girls. Two fifths of the remainder were men and the rest were women. What fraction of the total attendants were women?											(4mks)





















17) Evaluate: 	8 + 0.5 x 0.3 – 0.05								(3mks)
0.9














18) An open cylindrical tin has a diameter of 14cm and height of 10cm. Calculate the surface area of the tin in cm2(Take π = 22/7)							(2mks)














 

19) Simplify: 	x + 3 (x + 2y) – 2x + 2y							(3mks)
       x












20) The length of a rectangular plot is 30m and the width is 20m. Each side of the plot is increased by 10%. Find the percentage increase in the area of the plot.			(4mks)
























21) Find the area of the shaded part in the figure below. (dimensions are in cm)		(4mks)
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